Multiply by 100 (D)

Find each product.

54 x 100 = 96 x 100 =
25 x100 = 8 X100 =
7 %100 = 61 x 100 =
47 x 100 = 34 x 100 =
63 X 100 = 83 X100 =
73 X100 = 14 x 100 =
72 x 100 = 8 x 100 =
74 X 100 = 38 X100 =
89 X 100 = 70 X 100 =
45 x 100 = 81 x 100 =
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Multiply by 100 (D) Answers

54 x 100 = 5,400

25x100=2,500

7x100=700

47 x 100 = 4,700

63 X 100 = 6,300

73 x 100 =17,300

72 x100=7,200

74 x 100 =7,400

89 x 100 =38,900

45 x 100 = 4,500

Find each product.

96 x 100 =9,600

8 x 100 =800

61 X 100 =6,100

34 X100 = 3,400

83 x 100 =38,300

14 x 100 = 1,400

8 X 100 =800

38 x 100 = 3,800

70 x 100 =7,000

81 x 100 =8,100
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